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Use the image to answer the following questions.
21.  The area of the rectangle is:
A.     16				B.    20
C.     17				D.    19


22.  The perimeter of the rectangle is:				23.  The length of the diagonals is:
A.   16				B.   20				A.    7.1			              B.    3.2
C.    17				D.   19				C.     5.8				D.    6.3


24.  The coordinates of the midpoints are:
A.   (1.5, .5)			B.   (-3.5, .5)
[bookmark: _GoBack]C.   (-.5, 2.5)			D.   (2.5, .5)
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Geometry Name

Unit 5 Quiz Part 1

Find the distance between each pair of points.

1 (6,-3), (-1,2) 2) (-7,3), (3,2)
A) 4.899 B) 3.464 A) 3 B) 10.05
C) 14.866 D) 8.602 C) 3317 D) 6.403

Find the slope of the line through each pair of points.

3) (-6,5),(4,1) 4) (7,-16),(-4, 11)
2 5 27 11
A) 3 B) - A) o B) -
2 5 27 11
C) -5 D) 3 C) -0 D) >
Find the midpoint of the line segment with the given endpoints.
5) (1,-8), (0,-4) 6) (1,-10), (-6,2)
A) (0.5,-2) B) (0.5,-6) A) (-2.5,-4) B) (3.5,-6)

C) (-35.-2) D) (-1,0) C) (-4.5.-2) D) (-13,14)
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‘Write the slope-intercept form of the equation of the line through the given point with the given
slope.

7) through: (0, 2), slope =2 8) through: (73, 5), slope =3
A) y=—2x+2 B) y=2x+2 A) y=—4x-3 B) y=4x-3
C) y=x-2 D) y=2x-2 C) y=-3x-3 D) y=-3x-4

‘Write the slope-intercept form of the equation of the line described.

1 1
9) through: (-4,0), parallel toyzfgxf 5 10) through: (—4,-2), parallel toy:75X73
A) *72r+l B) *2r+l A) *7§r74 B) *§r74
T, TR, 7y i

1 1 1 5
C) y=—x-2 D) y=——x-2 C) y=—"x-4 D) y=—4x+—
)y 3 ) ¥ 3 )y 3 ) ¥ 3
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11) through: (2.4), perp.to y=2x-3
3

1
B) y=—Tx+=
) y=-3

3
A) y=—x-
) y=3 B

1
C) y=5x- D) y=—gx+5

D=

Factor each completely.
13) x> +12x+36

A) (x+6)
B) (x-6)’
©) (x=2)(x-6)
D) (x-5(x+1)

1
12) through: (2.1), perp. to y=— gx

A) y=5x-3 B) y=-5x-3
C) y=-3x-5 D) y=3x-5

14) x> - 8x+16
A) (-4 B) Not factorable
C) (x+4) D) (x+9)x-3)
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Use the information provided to write the equation of each circle.

15) Center: (7, -9)
Radius: 5
A) (x-77+(+9)7=625
B) (x+8)+(y+7)=25
C) (x=77+(y+9)7=25
D) (x+ 77+ (y+9)' =25

Identify the center and radius of each.

17) (x+6)* +(y+9) =64

A) Center: (76, 79)
Radius: 8

B) Center: (-9, 6)
Radius: 8

C) Center: (6, 79)
Radius: 8

D) Center: (-6, 9)
Radius: 8

16) Center: (-15, 10)
Radius: 2
A) (x-157+(y+101=4
B) (x+15)+(y-101=4
C) (x—15)7+(y+107=1
D) (x+10)+(y-15)7=4

18) (x+5)+(y+6) =49

A) Center: (75, 76)
Radius: 7

B) Center: (5, 6)
Radius: 7

C) Center: (6, 77)
Radius: 7

D) Center: (-5, 6)
Radius: 49
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Use the information provided to write the standard form equation of each circle.

19) x> + > +22x— 4y +111=0 20) x* +3% —26x - 12y +189=0
A) (x+11) 7+ (-2 =14 A) (x-13)+(y-6)1=1
B) (x+11)°+(y-2)*=19 B) (x—13)+ (y— 6F = 256
) (x=9P+(y-20=14 C) (x+13)*+(y+6/=256

D) (x+2/+(y-11)" =196 D) (x-13)+(y-6)=16
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